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e EXAMPLES:
6x = 18
;; 18 Divide both sides of the equatio_n by 6 to
B 6 leave just “x” on the left hand-side.
x =3
3x-5=19
3x -B+8=19+5 Add 5 to both sides of the equation to
remove the -5 from the left hand-side.
g_x. -— 2_.4 b . : Gy,
32 -3 Divide both sides by 3 to leave just “x” on
the left hand-side.
x=8
18 = 4(x + 3) Multiply out the bracket.
18 =4 + 12 Subtract 12 from the both sides of the
18-12=4x+ 47 -12 ﬁgﬁgt_lsczgeto remove the +12 on the right
% = ‘% Divide both sides by 4 to leave just “x” on
the right hand-side.
1.5=x
18 = 4(xx + 9) Multiply out the bracket.
18 =4x + 36 Subtract 36 from both sides of the equation.
18 - 36 = 4 + 36 - 36 Divide both sides by 4 to leave just the “x”
18 _ A on the right-hand side.
4 A
45 =x -
5(x +6) =20 Multiply out the bracket.
5x +30 =20 Subtract 30 from both sides of the equation.
5x +.30-30 = 20 - 30 Divide both sides of the equation by 5.
Bx _-10
A "5
x=-2

8x-7=5x+2
8x-5x-7=5x-5%+2
3x -7 +7=2+17
S
3
3

3x
-4
-

Rearrange all the x’s on the right and the
constant terms on the left.

Collect all like terms.

Divide both sides of the equation by 3.




